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THE ARCHITECT’S USE OF APPLIED PHYSICS

It is axiomatic that all living things on the earth’s surface are enveloped by an ocean of

air at all times. An architecture meant to serve these creatures must naturally take into

account problems posed by the currents in this ocean of air.

Because air space is necessary to human life, it is a central concern of good architecture.

In studying how to manipulate these spaces architecturally to best advantage, problems

concerning the fluctuation of air currents should be a primary concern.
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